T A %k %

‘. = ' < . > 21 9’;‘ / ﬁ
@iﬁx’ﬁk%ﬂ-‘h) Lt penranantR( =2 XF KA) L x

2.

4.

S -

22

(a) Find the gueml solubon of g"/-lj"— X*y'+ ILj = 7e

h) Find a funchion f(b) Sah’s@"*\?« fiey = é't+2fte_-3tfce-t)dt
7]

Find the eigenvaluas and e«\'?em,\/edors 0)[ the makr
| © ANz
A = o 2 o
e o

3% '
Given & - o
éc g9t = 9rie
wheree C s the cfrc,IQ. 1% > 3, . Fl'r‘C{ 3‘0
At seme instant , the Switch sw may stay at cm7 one of the three.
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The distribution Of the Valf'aje. V measured
at positon X /s
position 1 ¢ uniforml distnbuted over © and 2 wits

posibion 2 1 uniformiy distributed over | amd 3 wlis
posikon 3 :  uniformly dishibuted over o and 4 velfs

(a) Find the prvbcuSrlr PLV=2]
“eb) Given V> 2 voits, find the Pm‘hb-‘ll"/j that the switch i's at postion 3

o fTet cun

¢a) Find tha Laplo.co, bransform of tHe. ﬁmcﬁ'an )eéé): g i ifo<{, e
cost if t Damw

(b) F'.nd &“ [._5(_"3_).;-] bﬂ cmvaluh.m M&H‘MG‘ .

& [ tu\) - ,n!/sn*l

. S
i y wswt) = —-——-—5'_“01

&(_e-abtm] = (;j;)mi"

(o
1o






